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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A

1. 9R@E # @ Tt ford yepr y-frfientor 6 foe ARt & 2 1
YT
TSI § AT IRENT Y-Feehtr & ot e ITRErR 7 2 1

How are mining activities responsible for land degradation in Jharkhand ?
OR
How is overgrazing responsible for land degradation in Gujarat ?
2. W& % R ufEr FI v dgh! o T Tk =1 & =1 g1 Gehdl B ? 1
HAAAT
U T foRa % fote faemra o1 oter s &1 wehar 8 2 1

What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR
What may be a developmental goal of a rich farmer ?

3. 1815 Afeehat ‘Efgard weA syaeensti’ 3 HiEtE sifd & L Yiga amf i

et s & fofe deiRe o fem @i s 2 1
aterdn
1907 ® foraam § Tiferd st &t AT @ier T 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?
OR

Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
4. 9 3R %9 dieH A ARl dfeaad H AR SR § qHRING e
[ERIRICIN 1

How were Dutch and French speaking people accommodated in the
‘Community’ Government in Belgium ?

5. HgU I Y qE NG H IIUIATT ek 39 H I Aal off ? 1
T
Rd # el adt < IR quehl | Afgatstl 3R S=il Sl I9=ATE i 9eH &
ITI: galcaTtga il foham T 2 1
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Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

6. I S g g b S fRedl 3 Henyd Saneit % sqew fafaw | §+§:1

State any two examples of the basic services provided by the tertiary
sector.

7. Tl @ € Il wrafEl o qm faRae, S SgusEE SRl o ®9 H 3wl

: 1 1
g | Z4=1
2 2
Name any two large Indian companies that emerged as multinational
companies.
w|is g
SECTION B

8.  TH Wehlieh HETEHT 1 3fa IR fodehygs &1 & 3TN HT AT AMMGY ? 3T
foam &1 Tse T | 3

Why should we use natural resources properly and judiciously ? Explain
your views.

9.  IThal BN &F H F AR TTTR hH 39 fohu 571 &kl 7 2 ol fH 3umii
ST T | 1x3=3

atera
R H SRS <hl {9 1 8 gU fohal ST ®ehel & ? fohedl oI Ul h
ST HIT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.
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10.

11.

12.

13.

14.

“FuT AHRICHS HRT 3G HL Tehdl & |7 39 HAT Pl qoh dfgd ARG

38T | 3
HAYAT
“FRU1 THRICHS USRI G H Hehdl & |7 38 HIA hl deh Higd AFETA
CIUE 3
“Credit can play a positive role.” Justify the statement with arguments.
OR

“Credit can play a negative role.” Justify the statement with arguments.
“UTa Rkl 3 YW % TR § ged e FEE 7 17 @ 3T g
Y DI ARIET IUST | 1x3=3

“Human activities have contributed significantly in land degradation.”

Justify the statement with three examples.

ORd § foesft fFaw =1 smewftd @ & U &g 9 U9 9 [ grir 381U U
for-gl 19 shemt =1 auig HifT | 1x3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

TSI | ST ford TohR 379k &9 o Tehdl g 2 SCTEUN Ffgd oAl <hIfaT | 3
AYAT

TR W H TG F 9g § wigenstt H Tufy # F gur gon 2 qwwn At

=TT i | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

“STI SR TSHITG 1 GEIA 1 HI9 T A T T 8 |7 HIA
gfee IeTETer gt T | 3

“Legal ways of reforming politics need to be resisted.” Support the

statement with examples.
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15. “AreRditeh SHeedT S 9! ghadl A R g IAmEi § 7 17 39 HAH H
fereetyor iR |

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

16. 5o 8 Usg-Tsg & &9 | Aftdead T 31T 2 =4t iy |
srat
fora T o el hH TSHITaeh 3R HTER{de TN & @ISl H 95 ¢ ? SATE
HIRT |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

17. 3EEd vaed ® U9 § fohd YR s, mfgansti i i W ®9 § a9l
&I § AU U3k 9¢ ? ICTEWN Uigd AT shifay |
AT
fafafies @R w1 et W Su=mEl # 2ot Sfew 9 Ofq-fet @ g
SRR 1 TEHeH G hel AL AT ? ISR Algd AT FHIT |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

18. <X o Mk forehre i g & w9 ° fafmior 3awm & 78w 1 aviF i |

HAAT
FN o fohrE H 3TN o ANTGH T JUH hITIT |

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.
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SECTION C

19. “forell <91 o TS AR o1 SATfeleh ST et STt ' |7 dehl |fgd sed
! IET 38UsT | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

20. YRGS foume gu # B-vala T % g w1 avia i | Ix5=5
HAAAT
goare <l forgl ura fawarstt &1 9uiq hifse | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

21. ISk iy i fehegl i formmanati w1 avi il | Ix5=5

Describe any five features of commercial farming.

22.  TgTe et % foemi o TUs i s@uren % fIww § SWH Awel i T

S T oft 2 sarE i | 5
Y

TG o ot vy § foraml ot stfearfimt 3 ‘stagam afeiad’ ° ford Tt

T ot 2 s hifv | 5

How did plantation workers have their own understanding of Mahatma

Gandhi and the notion of Swaraj ? Explain.
OR
How had peasants and tribals participated in the ‘Non-Cooperation

Movement’ in different parts of India ? Explain.

321313 7 P.T.O.



E5
23. 1920 % YR g H fhg TR STHTNGEH! refedawen GH: oSl ¥ auaeh! i
ot ? 3gEwn |fgd smE i | 5
HAYAT
JATEE] AR % G Fis H SR H o sl 9gdrEd 8 HegU i (Wel hH
T 83 ? 3GTe Higd SATed] iy | 5
HAYAT
Sl FdTedl H Sig o BRI 3T hREHI H ShIAd o g8 UHH W SEHTT 9
&8 TR gaETd Oe7 71 8 off 2 Serswn wfgd e hifvw | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

24, U= USAl o AW A9 fGu U @ | 3 9 yAS UsH o el T & Ui

T I 38k gAa g dfea foafaw | Ix5=5
i) SRR

(i) ~ AeTg

(iii) HENISg

(iv) 9™

(v) S I

Names of five States are given below. Write the name of any one regional
political party of each State with election symbol.

(1) Jammu & Kashmir

(i1))  Tamil Nadu

(111) Maharashtra

(iv) Assam

(v)  Uttar Pradesh
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25. “Swire F aege ¥ R o darei B wRe % R gl @
AR BT 7 |7 e i gfee HifT |

“Consumers have the right to be protected against the marketing of goods

and services.” Support the statement.

26. (A)
(B)
(A)

321313

Qs ¥
SECTION D

T AU ‘@’ IR b’ iU T wRE Wk Yoo W@I-AHEE (98 11 W), |
3ifera fope T € | 37 @aont A frefofaa e 6t Femar & gg=ie
3R 3Tk T A I g i 18 w@redi w el

(a) 9% TAM TET WRA TS HiE 1 AREYE g |

1x2=2

(b) % T &I § A I @l T ATl hHMI I QA TR G |

) feu U WRa & UoHifae W@-AERT |

I 3T BT A gRisy 3R Ik 919 fRaw
() BTWHE - 4

(i) = - Y@ g5 9ad

Gii) ¥~ el SR g g
(iv) BEUEIE  —  HIFCAIL SIS aTeh
(v) W —  nfuass ot WA

[ N NI o

(HHlAEd

H W faegt div
1x3=3

Two features ‘@’ and ‘b’ are marked on the given political outline

map of India (on page 11). Identify these features with the help of

the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress session was

held.

(b) The place from where the movement of Indigo planters was

started.

P.T.O.



- (B) Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :
(1) Hirakud —  Dam
(i1)) Kochi —  Major sea port
(iii) Salem —  Iron and Steel Centre
(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant
Fig:  FECTRET 397 @acl gIRanea qhgnteen & o/ 397 61 26 & €& T/
& | fabg wier 7971 & I [o7iET

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) 38 ST 1 A faflgu, &1 Alcriaran s = 8 |
(26.2) 38 TAA 1 9 fafge, S fiad Hi @dt == 9 fram 3 aoamE
feRarm |
(26.3) TSIA < 39 ¥IH 1 W foafgn, SaT fhami 3 aemg fome |
(26.4) 3T USF &1 W fafge, &7 deart dig-37h T T § |
(26.5) 3 TSA 1 AW fafaw, ST wifa Tl oo+ foa 7 |
(26.6) 39 U= &1 9W faRge, S@t 70w mfvees ga foorg 2 |
(26.7) 39 USF 1 A fAfgy, J&T gL AreT aon $e97a J feorq 2 | 1x5=5
(26.1) Name the State where Jallianwala Bagh incident took place.
(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.
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WA kT WET-HTA T (TR )
Outline Map of India (Political)
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